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08 | B
» g “E 4 Q. SECTION - A (10 X 1 = 10 Marks)
g S 8 '1." No. Answer ALL Questions.
Cg |
Co1 K1 1. | The remainder when x? — x — 1 is divided by x — 2 is
a) -2 b) -4 c)3 d) 1
Co1 K2 2. | To determine negative root, change x into .
a) 2x b) —x c) - d) —x2
2 n
coz K1 3. | The coefficient of x™ in the infinite series 1 + bz# + % + et % + s -
e~bagn ebgn (b+ax)™ (b+ax)™
a) n! b) n! C) n! d) - n! )
CO2 K2 4. 1_l+l 1+ ..(_1)ni+ [T
1 20 3! !
a) e b) e~? c) e* d)e™™
Cco3 K1 5. | The characteristic equation of (i i) is
a) 22—-181+10=0 b)A22-714+10=0
c)A2—181+5=0 d)A2—-81+1=0
co3 K2 6. | The product of eigen values of (i Z) is
a) 5 b) 14 c) 16 d) 20
n
CO4 K1 7. When n is even, the number of terms in the expansion of (x + i) is__
ajn+1 b) n c)n+2 d) 2n
CO4 K2 8. |xn—_L_= .
xm -
a) 2isinn6 b) 2cosnf c) 2cos6 d) 2isinf
CO5 K1 9. |sinh(ix) = .
a) cosx b) —coshx C) isinx d) —sinhx
CO5 | K2 10. | sec?x —tan?x = .
a) -1 b) 2 c) -2 d) 1
o8 | B
@ g g9 Q. SECTION - B (5 X 5 = 25 Marks)
g 1] g '$ No. Answer ALL Questions choosing either (a) or (b)
Sg |mu
CO1 | K3 | 1lla. | Determine the quotient and remainder when 2x° + 3x> — 15x? + 2x — 4 = 0 is
divided by x + 5.
(OR)
Co1 K3 11b. | Determine the equation when we diminish by 3 to the roots of the equation
x5 —4x* +3x* —4x + 6 = 0.




Cco2 K3 12a. | Compute the summation of the series %+ % + % + -

(OR)

2 2 3

CcO?2 K3 12b. | Compute the summation the series 1 + %'3 + 1+:L3 + 1+3+43' B4 too
co3 K4 13a. Compute the eigen value and eigen vector of (i i)

(OR)

. 4 1

CO3 K4 13b. | Compute the eigen value of (3 2)
CO4 K4 14a. | Expand cos86 in a series of sines of multiples of 6.

(OR)

CO4 K4 14b. | Expand cos® 6 in a series of cosines of multiples of 6.

CO5 KS 15a. | Determine the expression of cosh® 8 in a series of hyperbolic cosines of
multiples of 8.

(OR)
CO5 K5 | 15b. | If cos(x + iy) = cosf + isinf, prove that cos2x + cosh2y = 2.
o ]

S8 | =0

) g » Q. SECTION - C (5 X 8 = 40 Marks)

3 S o~ | No. Answer ALL Questions choosing either (a) or (b)

S2 | g«

CO1 | K3 | 16a. | Show that the equation x* — 3x3 + 4x? — 2x + 1 = 0 can be transformed into a
reciprocal equation by diminishing the roots by unity. Hence solve the
equation.

(OR)
Co1 K3 16b. | Given that the equation x3 — 3x + 1 = 0 has a root lies between 1 and 2.Find
out it to three places of decimals by Horner’s method.
2 2 2 2 2 2
Cco2 K4 17a. | Eyaluate the summation of the series %+ ! ;2 +1 +23'+3 + -+ to .
(OR)
1 1 1 1 1
CcO2 K4 17b. | Show that log, b = Eloge a+ Eloge C+o——+:. Gaci D)
CO3 K4 18a. | Analyze the proof of Cayley Hamilton theorem.
(OR)
-2 2 =3
CcO03 K4 18b. | Compute the eigen value and eigen vector of ( 2 1 —6)
-1 -2 0
CO4 K5 19a. | Determine the expansion of sin®@ in a series of cosines of multiples of 6.
(OR)

CO4 KS 19b. | Determine the expansion of cos? 8 sin* 6 in a series of cosines of multiples of
0.

COS5 K5 | 20a. | Resolve into real and imaginary parts of tan h(1 + i).

(OR)

CO5 KS | 20b. | pProve that if tan(x + iy) = u + iv, then Lo smax

v sinh2y




